3. (5 pts) Carefully prove: the di_fference between any two odd integers is even.
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>< 6. (2 pts) Show that 7.2121212121... is a rational number.
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6. (2 pts) Show that 7.2121212121... is a rational number.
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10. (5 pts)Prove that if n is
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integer that is not divisible by 2 or 3, then n* mod 12 ='1.
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9. (5 pts) Prove or disprove:
For all real numbers x and y, [ xy |=[x] [y]
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10. (5 pts)Prove that if n is any integer that is not divisible by 2 or 3, then n” mod 12 = 1.
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9. (5 pts) Prove or disprove:
For all real numbers x and y, [ xy | =[x | |-y—|
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